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2. State the parent function and the fransformations for each of the following:

- a fR=xe-1 b. g() =2|x-T} e

; PE: _ Qoadyoh o NI X PR _AWSHIUA NOU b=t L

| Trans: DN \ Trans: ST‘?TMQML_ |
:' c. he) = [x+5]-2 Y j) = -3V% .

| P RplU®s NJOwe N = 1A PE: Seuore, f OQj’_x,l__é_

Z; Trans: _L2£+ S, DOWD L Trans: fm clect O Ch

|

‘ 3. Wiite the equation of the function with the given transformations:

a. Square root: left 3, down 2

b. Absolute value: reflection over y-axis, compression of

c. Quadratic: reflection over x-axis, right 9
d. Cubic: down Y 34, ’ X

Birec’iionsz. Write a piecewise function for the following graphs.
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Function? , or No
fF(-4)= -3
f0)= -3

f(3)= -2
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10. ' 11,

 Directions: Find the inverse of the following functions. Is the function 1-17

| -5 ue P ‘ 15 f(x) = 5% =
14. f(x) =-"—x— ‘{iﬂe\ﬁl _\_} 15. f(x)=5x2- 4
A= ‘53 “\%

X+ Y= 3&5
Xﬂ-‘ 1
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